Answers to Second Project, Task One – Temperatures as a function of distance, z and time, t

	
	z = -.1 m
	z = -.08 m
	z = -.06 m
	z = -.04 m
	z = -.02 m
	z = 0 m
	z = .02 m
	z = .04 m
	z = .06 m
	z = .08 m
	z = .1 m

	t = 200 s
	50
	222.3132
	357.1867
	439.6642
	478.3069
	488.8226
	478.3069
	439.6642
	357.1867
	222.3132
	50

	t = 400 s
	50
	173.7339
	282.1299
	364.0242
	413.9630
	430.6102
	413.9630
	364.0242
	282.1299
	173.7339
	50

	t = 600 s
	50
	148.6811
	237.1586
	306.6761
	350.8607
	365.9902
	350.8607
	306.6761
	237.1586
	148.6811
	50

	t = 800 s
	50
	130.5163
	203.0590
	260.5111
	297.3217
	309.9896
	297.3217
	260.5111
	203.0590
	130.5163
	50

	t = 1000 s
	50
	116.0107
	175.5443
	222.7704
	253.0786
	263.5194
	253.0786
	222.7704
	175.5443
	116.0107
	50

	t = 1200 s
	50
	104.1722
	153.0390
	191.8165
	216.7110
	225.2886
	216.7110
	191.8165
	153.0390
	104.1722
	50

	t = 1400 s
	50
	94.4659
	134.5787
	166.4118
	186.8496
	193.8919
	186.8496
	166.4118
	134.5787
	94.4659
	50

	t = 1600 s
	50
	86.5003
	119.4275
	145.5587
	162.3358
	168.1168
	162.3358
	145.5587
	119.4275
	86.5003
	50

	t = 1800 s
	50
	79.9618
	106.9908
	128.4411
	142.2130
	146.9585
	142.2130
	128.4411
	106.9908
	79.9618
	50

	t = 2000 s
	50
	74.5947
	96.7820
	114.3898
	125.6948
	129.5902
	125.6948
	114.3898
	96.7820
	74.5947
	50

	t = 2200 s
	50
	70.1890
	88.4018
	102.8556
	112.1355
	115.3331
	112.1355
	102.8556
	88.4018
	70.1890
	50

	t = 2400 s
	50
	66.5726
	81.5229
	93.3875
	101.0051
	103.6299
	101.0051
	93.3875
	81.5229
	66.5726
	50

	t = 2600 s
	50
	63.6039
	75.8761
	85.6155
	91.8685
	94.0231
	91.8685
	85.6155
	75.8761
	63.6039
	50

	t = 2800 s
	50
	61.1670
	71.2409
	79.2356
	84.3685
	86.1372
	84.3685
	79.2356
	71.2409
	61.1670
	50

	t = 3000 s
	50
	59.1666
	67.4360
	73.9986
	78.2120
	79.6639
	78.2120
	73.9986
	67.4360
	59.1666
	50


For task two, the three roots of x = 3sin(x) + cos(x), to six significant figures are: -2.53390, -0.471368, and 2.09549
The solution to task three is 2471.01 seconds
